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	 E = E1 + E2   =( P1 +  P2 ) x t  =  C × n  ــ3��� )   �/�اة + = ن (ــ �;��ع ا��8�9ت ا�/. 
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�ر ا�/. 

  
1.5  

  
 3*�D6.5( ا�%� �) ا� #$* (  


	         ــ1-1��Fا� 	�$Gا� �D�4 ــ                :   H�I0.5  !�رة ا�  

         f  =  4 cm                                 ���	 ــ !�رة     :    �=�B	  f      /    ــ  ــ2-1
   C = 1 / f  =  25.δ )د���% ي                                     ( : إذن   �8ة ا����	      

1.5  

2   "
�Bء ا�.���3 ا��I*�ــ ا / 	��%�� 	
  ��P.cm  2  A’B’  =      1.5.�             /  !�رة وه�
  0.5  .ــ B4%��� هST ا����	 آ�/G ة    3

	 ا���D�G	 �) ا�3Iء  ����Gر�	  ــ   4��Fا� 	�V'ز ا�
%�
	   )   دور ���	 ( ا�
  �) XYل ا�$


	 ) دور ا�];�ب     ( /GIا� \�� 	�  ) دور ا�V�I	(�%%/�ن !�رة وا[]	 و�$��
  

1.5  
5     	/GIا� ���
	 4]%�ي ��\ ���	 �;��	 /   ــ 4%/�ن ا�@�رة GP رة�^* _]�� `
�@]a ا��

  . ا��
) ����G	 أ��م
1  

  
  c��D7( ا�%� �) ا� #$*  (  


#   ــ1-1eا�  
fg4 ��4س ( ــ     +    (    "B;وزن ا� )  ��� (�  
fg4 (  1  

" �I وط ا�%�ازن   ــ2-1�Bا� j
G9%ــ ا�  / 	��
�  ا�@]
a ��%;.	 ا��زن / ��

ات ا��زن ا'رD�%2  .ا�  
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